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&5 X 4 ﬁ:c; Tﬁﬁ“ih\(i)@ﬁﬁ%ﬁ jj(gilitrf)é X 4 ‘Fﬁﬁﬁ?é\%l;g)n;kzlz ﬁf jj(lfr?litrf)é X 4 ﬁq&; J:ﬁn“ﬁ;ﬁ\(ﬁ)a)tt?% jj(gilitrf)é X 4 J:ﬁﬁ;ﬁ\(ﬁ)a)tt% ﬁf jj(lfr?litrf)é
P 100kN/m#E 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZEBZ B - ~ — — —
Thilst 1.00 | 0.00 ~ 4.74 59.05 | =ns | 000 ~ 4.74| 1.79 9.60 Thilst 1.00 | 6.00 ~ b6.00 59.05 | =nst | 5,00 ~ 600\ 1.79 9.60
2 100kN/ Mm% 2 % — -~ - —|3mZEERD| — ~ — — — | 100kN/ %82 % — - ~ — —|3mZi#BZ % -~ — — -
Thilst 1.00 | 000 ~ 735 93.75 | #ns | 000 ~ 0.00| 1.70 9.10 Thilst 1.00 | 6.00 ~ 9.60 93.75 | EhLSY | 5,00 ~ 9.60 | 1.70 9.10
3 100kN/ Mm% 2 % — -~ - —|3mZEERE| — ~ — — — | 100kN/ %82 % — - ~ — —|3mZi#BZ % -~ — — -
Thilst 1.00 | 0.00 ~ 5.48 6834 | NS | 000 ~ 548 1.76 9.41 Thilst 1.00 | 6.00 ~ 6.00 6834 | TN | 6.00 ~ 6.00)| 1.76 9.41
4 100kN/m#E 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZBZ D - ~ — — —
ThList 1.00 | 0.00 ~ 459 5718 | #nst | 0oo ~ 000 | 1.59 849 ThList 1.00 | 5.00 ~ 6.00 5718 | =ns | 5,00 ~ 500 1.69 849
5 100kN/m#E 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZBZ D - ~ — — —
ThList 1.00 | 000 ~ 476 59.33 | =nhLS | 0oo ~ 476|177 9.46 ThList 1.00 | 5.00 ~ 6.00 59.33 | NS | 500 ~ 500\ 1.77 9.46
P 100kN/m#E 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#BZ % — - ~ — —[3mZBZ B - ~ — — —
Lt 1.00 000 ~ 751 96.03 | Ths | 000 ~ 751|208 11.11 Thilst 1.00 | 5.00 ~ 1008 96.03 | =hSt | .00 ~ 1008 2.08 11.11
7 100kN/ Mm% 2 % — -~ - —|3mZEERD| — ~ — — — | 100kN/ %82 % — - ~ — —|3mZi#BZ % -~ — — -
Lt 1.00 000 ~ 753 96.24 | Ths | 000 ~ 7.53| 2.03 10.87 Thilst 1.00 | 5.00 ~ 1040 96.24 | FhS | 5.00 ~ 1040 | 2.03 10.87
P 100kN/ Mm% 2 % — -~ - —|3mZEERE| — ~ — — — | 100kN/ %82 % — - ~ — —|3mZi#BZ % -~ — — -
Thilst 1.00 | 0.00 ~ 4.61 57.45 | Fnst | 000 ~ 0.00| 1.569 8.63 Thilst 1.00 | 6.00 ~ b6.00 57.45 | F=ns | 65,00 ~ 6.00| 1.69 8.63
100kN/m#E 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ Zznst ~ ZnList ~ s ~
100kN/m#E {2 % ~ IMEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ st ~ ZnList ~ st ~
100kN/m#E 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ 3ImEB2 D ~
st ~ ZhLst ~ Zzhst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M8 2 % ~ 3ImE R D ~
st ~ Zh Lt ~ Zzhpst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/mi%#8 2 % ~ 3ImE RS ~
Zzhpst ~ ZnLst ~ Zzhpst ~ ZnLst ~
100kN/m#E 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ s ~ ZnList ~ Zznst ~
100kN/ Mm% 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ ZnLst ~ ZnList ~ ZnLst ~

D
H
Tl



